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671/Dental Sciences 

Research Entrance Test - 2023 

No. of Questions : 100 

iz'uksa dh la[;k % iz'uksa dh la[;k % iz'uksa dh la[;k % iz'uksa dh la[;k % 100    

Time    : 3 Hours ]    [ Full Marks : 400 

le; % le; % le; % le; % 3 ?k.Vs ?k.Vs ?k.Vs ?k.Vs ]    [ iw.kk±d % iw.kk±d % iw.kk±d % iw.kk±d % 400    

Note : (i) This Question Booklet contains 100 Objective Questions (MCQs), of which 

50 Objective Questions are based on components of Research Methodology 

and 50 Objective Questions are based on concerned subject. 

   bl ç'u-iqfLrdk esa dqy 100 oLrqfu"B ç'u ¼,e0lh0D;w0½ gSaA ftlesa 50 oLrqfu"B ç'u 

'kks/k çfof/k ds la?kVdksa ij vk/kkfjr gSa vkSj 50 oLrqfu"B ç'u lacaf/kr fo"k; ,oa {ks= ij 

vk/kkfjr gSaA 

  (ii) Attempt as many Questions as you can. Each Question carries 4 (Four) 

marks. Zero mark will be awarded for each unattempted question. There will 

be no negative marking for wrong answer. 

   mrus ç'uksa dks gy djus dk ç;Ru djsa ftruk vki dj ldsaA çR;sd ç'u 4    ¼¼¼¼pkjpkjpkjpkj½½½½ vadksa 

dk gSA çR;sd vuqÙkfjr ç'u dk çkIrkad 'kwU;'kwU;'kwU;'kwU; gksxkA xyr mÙkj ds fy, ____.kkRed vad .kkRed vad .kkRed vad .kkRed vad 

ugha fn;k tk,xkA 

  (iii) If more than one alternative answers of MCQs seem to approximate the 

correct answer, choose the closest one. 

   ;fn oLrqfu"B ç'uksa ds ,d ls vf/kd oSdfYid mÙkj lgh mÙkj ds fudV çrhr gksa] rks 

fudVre lgh mÙkj nsaA 
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1. The marks of 100 students of a class revealed that about 80 students scored 

below 20 marks, 10 students scored between 20 to 80 and remaining scored 

between 80 and 100 marks. Which of the following statements is correct for such 

data ? 

,d d{kk ds 100 Nk=ksa ds vadksa ls irk pyk fd yxHkx 80 Nk=ksa us 20 ls de vad çkIr 
fd,] 10 Nk=ksa us 20 ls 80 ds chp vad çkIr fd, vkSj 'ks"k us 80 ls 100 vad ds chp 
vad çkIr fd,A ,sls vk¡dM+ksa ds fy, fuEufyf[kr esa ls dkSu-lk dFku lghlghlghlgh gS \ 
(1) Mode of the data will be 30 

 vk¡dM+ksa dk cgqyd 30 gksxk  

(2) Skewness of the data will be negative 

 vk¡dM+ksa dk frjNkiu _.kkRed gksxk 
(3) Kurtosis of the data will be equal to 3 

 vk¡dM+ksa dk dqdqnrk 3 ds cjkcj gksxk    

(4) Skewness of the data will be positive 

 vk¡dM+ksa dk frjNkiu /kukRed gksxk 

2. The vertical axis in a graph is known as : 

xzkQ esa Å/okZ/kj v{k dks tkuk tkrk gS % 
(1) Reference Line (2) Abscissa 

 jsQjsUl js[kk  ,fCllk 
(3) Ordinate (4) Double ordinate 

 vkWfMZusV  Mcy vkWfMZusV 

3. Find out the median of the given data set : 11, 12, 14, 16, 16, 10, 18, 19, 9, 20 

fn, x, vk¡dM+k leqPp; dh ekf/;dk Kkr djsa % 11, 12, 14, 16, 16, 10, 18, 19, 9, 20 
(1) 15  (2) 16 (3) 13 (4) 17 

4. The digital repository of theses and dissertations submitted to universities of 

India is known as : 

Hkkjr ds fo'ofo|ky;ksa esa çLrqr 'kks/k çcU/kksa ,oa 'kks/k fuca/kksa ds fMftVy HkaMkj dks tkuk tkrk 
gS % 
(1) Shodhganga (2) Shodhsindhu 

 'kks/kxaxk  'kks/kfla/kq 
(3) Shodhgangotri (4) Vidwan 

  'kks/kxaxks=h  fo}ku 
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5. Which among the following pair is not correct ? 

fuEufyf[kr esa ls dkSu-lk ;qXe lgh ughaughaughaugha  gS \ 
(1) Regression – Galton (2) Correlation coefficient – Pearson 

 çfrxeu – xSYVu  lglaca/k xq.kkad – fi;lZu 
(3) ANOVA – Fisher (4) PCA – Gauss 

 ,uksok – fQ'kj  ihlh, – xkWl 

6. The checklist used to improve transparency in systematic reviews is : 

O;ofLFkr leh{kkvkas esa ikjnf'kZrk dks csgrj cukus ds fy, mi;ksx dh tkus okyh psdfyLV gS % 
(1) META (2) COHEART  

 ,e b Vh ,  lh vks ,p b , vkj Vh 
(3) PRISMA (4) MAXIME 

 ih vkj vkb ,l ,e ,  ,e , ,Dl vkb ,e b 

7. The measurement scale with an absolute zero is : 

fujis{k 'kwU; okyh ekiuh gS % 
(1) Ratio Scale (2) Interval Scale 

 vuqikr ekiuh  varjky ekiuh 
(3) Ordinal Scale (4) Nominal Scale 

 Øfed ekiuh  ukfer ekiuh 

8. Among the following sampling methods, which one falls under the probability 

method ? 

fuEufyf[kr çfrp;u fof/k;ksa esa ls dkSu-lk laHkkO;rk fof/k ds varxZr vkrk gS \ 
(1) Judgement sampling (2) Quota sampling 

 fu.kZ; çfrp;u  dksVk çfrp;u 
(3) Cluster sampling (4) Convenience sampling 

 xqPN çfrp;u  lqfo/kk çfrp;u 

9. The number of possible samples of size 2 out of a population with size 5 using 

simple random sampling with replacement is : 

çfrLFkkiu ds lkFk ljy ;kn`fPNd çfrp;u dk mi;ksx djds vkdkj 5 okyh tula[;k esa ls 
vkdkj 2 ds leLr laHkkfor çfrn'kks± dh la[;k gS % 
(1) 25  (2) 20 (3) 10 (4) 12 
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10. The sampling method generally used for gathering information on rare events   

is : 

nqyZHk ?kVukvksa ij tkudkjh ,d= djus ds fy, lkekU;r;k çfrp;u fof/k dk mi;ksx fd;k 
tkrk gS % 
(1) Simple random sampling (2) Stratified random sampling 

 ljy ;kn`fPNd çfrp;u  LrjhÑr ;kn`fPNd çfrp;u 
(3) Snowball sampling (4) Systematic sampling 
 O;kid ¼LuksckWy½ çfrp;u  Øfed çfrp;u 

11. Match the given study designs in Column-I with Column-II and choose correct 

option : 

LrEHkLrEHkLrEHkLrEHk-I esa fn;s x;s v/;;u vfHkdYiksa dks LrEHkLrEHkLrEHkLrEHk -II ls feyk;sa vkSj lghlghlghlgh fodYi pqus % 
 Column-I 

LraHkLraHkLraHkLraHk-I 
 Column-II 

LraHkLraHkLraHkLraHk-II 
A. Cross-sectional 

ØkWl lsD'kuy 
(i) Data comes in future. 

vk¡dM+s Hkfo"; esa feyrs gSaA 
B. Case control 

dsl dUVªksy 
(ii) Data comes at present. 

vk¡dM+s orZeku esa feyrs gSaA 
C. Cohort 

dksgkVZ 
(iii) Data comes from past. 

vk¡dM+s iwoZ ls feyrs gSaA 
Code : 

ddddwVwVwVwV    %%%%    
(1) A-(ii),   B-(iii),   C-(i) (2) A-(ii),   B-(i),   C-(iii) 

(3) A-(iii),   B-(ii),   C-(i) (4) A-(i),   B-(ii),   C-(iii) 

12. What is full form of USB as used in computer related activities ? 

dEI;wVj ls lacaf/kr xfrfof/k;ksa esa mi;ksx gksus okys USB dk iw.kZ :i D;k gS \ 
(1) United Serial Bus (2) Ultra Security Bus 

 ;wukbVsM lhfj;y cl  vYVªk flD;ksfjVh cl 
(3) Universal Security Bus (4) Universal Serial Bus 

 ;wfuolZy flD;ksfjVh cl  ;wfuolZy lhfj;y cl 
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13. Which among the following can be used as post hoc test for means ? 

fuEufyf[kr esa ls dkSu ek/;ksa ds fy, iksLV-gkWd ijh{k.k dk mnkgj.k gS \ 
(1) Run test 

 ju ijh{k.k 
(2) One Sample t&test 

 ,d çfrn'kZ t&ijh{k.k 
(3) Chi Square test for goodness of fit 

 xqMusl vkWQ fQV ds fy, dkbZ oxZ ijh{k.k 
(4) Independent t-test 
 Lora= t&ijh{k.k 

14. Which among the following is a referencing software ? 

fuEufyf[kr esa ls dkSu-lk ,d jsQjsaflax lkW¶Vos;j gS \ 
(1) Canva (2) PubMED  

 dsUok   icesM 

(3) EndNote (4) Sci-Hub 

 bUMuksV  lkb&gc 

15. Which among the following is not an example of plagiarism detection software ? 

fuEufyf[kr esa ls dkSu lkfgfR;d pksjh dk irk yxkus okys lkW¶Vos;j dk mnkgj.k ughaughaughaugha gS \ 
(1) Mendeley (2) Drillbit 

 esaMys   fMªyfcV 

(3) Urkund (4) Turnitin 

 mjdqaM  VfuZfVu 

16. The principle of experimental design which helps in minimizing the bias is : 

çk;ksfxd vfHkdYi fl)kar tks vfHkufr dks U;wure djus esa enn djrk gS % 
(1) Replication (2) Randomization 

 çfrÑfr  ;kn`fPNdhdj.k 
(3) Local Control (4) Replication and Randomization 

 LFkkuh; fu;a=.k  çfrÑfr vkSj ;kn`fPNdhdj.k 

17. The minimum number of levels in an experimental design should be : 

,d çk;ksfxd vfHkdYi esa Lrjksa dh U;wure la[;k gksuh pkfg, % 
(1) One (2) Two (3) Three (4) Zero 

 ,d   nks  rhu  'kwU; 
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18. Which of the following experimental design is preferred when one of the factors 

needs more experiment material than the second factor ? 

tc fdlh ,d dkjd dks nwljs dkjd dh rqyuk esa vf/kd ç;ksx lkexzh dh vko';drk gksrh 
gS] rks fuEufyf[kr esa ls fdl ç;ksxkRed vfHkdYi dks çkFkfedrk nh tkrh gS \ 

(1) Latin Square Design (2) Lattice Design 

 ySfVu oxZ vfHkdYi  ySfVl vfHkdYi 

(3) Split plot (4) Strip plot 

 fLIyV IykWV  fLVªi IykWV 

19. The type of ANOVA employed in analysis of Completely Randomized Design 

is : 

lEiw.kZ ;kn`fPNd vfHkdYi ds fo'ys"k.k esa ç;qDr ,uksok dk çdkj gS % 

(1) One way (2) Two way without replication 

 ,drjQk  çfrÑfr ds fcuk nksrjQk 

(3) Two way with replication (4) Three way 

 çfrÑfr ds lkFk nksrjQk  rhurjQk 

20. Which of the following is susceptible with research ethics ? 

fuEufyf[kr esa ls dkSu vuqla/kku uSfrdrk ds çfr vfr-laosnu'khy gS \ 

(1) Reporting of research findings 

 'kks/k fu"d"kks± dh fjiksfV±x 

(2) Inaccurate application of analysis techniques 

 fo'ys"k.k rduhdksa dk xyr vuqç;ksx 

(3) Choice of sampling technique 

 çfrp;u rduhd dk p;u 

(4) Faulty research design 

 nks"kiw.kZ 'kks/k fMt+kbu 
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21. In finalizing the thesis writing format which of the following would form part of 

supplementary pages ? 

Fkhfll ys[ku çk:i dks vafre :i nsus esa fuEufyf[kr esa ls dkSu-lk iwjd i`"Bksa dk fgLlk 
gksxk \ 

(1) Appendices (2) List of tables and figures 

 ifjf'k"V  rkfydkvksa vkSj vk¡dM+ksa dh lwph 

(3) Table of contents (4) Conclusion of the study 

 fo"k;&lwph  v/;;u dk fu"d"kZ 

22. The mean of the standard normal distribution is : 

ekud çlkekU; caVu dk ek/; gS % 

(1) Zero (2) One (3) Infinity (4) Fifty 

 'kwU;   ,d  vuar  ipkl 

23. In Harvard style of referencing for a book, which among the following comes in 

the last ? 

fdlh iqLrd dks gkoZMZ 'kSyh esa lanfHkZr djus ds fy, fuEufyf[kr esa ls dkSu-lk vUr esa vkrk 
gS \ 
(1) Book title (2) Year of Publication 

 iqLrd dk 'kh"kZd  çdk'ku dk o"kZ 
(3) Place of Publication (4) Publisher 

 çdk'ku dk LFkku  çdk'kd 

24. Which of the following educational program is not govern by IGNOU ? 

fuEu esa ls dkSu-lk 'kSf{kd dk;ZØe IGNOU }kjk lapkfyr ughaughaughaugha gS \ 
(1) Gyan Darshan (2) Gyanvani (3) Swayam (4) e-Kosh 

 Kku n'kZu  Kkuok.kh  Lo;e~  bZ-dks"k 

25. The word research is derived from the French word : 

fjlpZ 'kCn] Ýsap 'kCn ls cuk gS % 
(1) Recherche (2) Reserch (3) Ricirch (4) Resorce 

 jhpspsZ   fjlpZ   fjfdpZ   fjlkslZ  
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26. Which among the following is an example of open-source data analysis   

software ? 

fuEufyf[kr esa ls dkSu-lk vksiu&lkslZ vk¡dM+k fo'ys"k.k lkW¶Vos;j dk ,d mnkgj.k gS \ 

(1) SPSS (2) JASP  

 ,l0 ih0 ,l0 ,l0  ts0 ,0 ,l0 ih0 

(3) Graphpad Prism (4) SAS 

 xzkQiSM fçTe  ,l0 ,0 ,l0 

27. What are the conditions in which Type-II error occurs ? 

os dkSu-lh fLFkfr;k¡ gSa ftuesa Vkbi-II =qfV mRiUu gksrh gS \ 
(1) The null hypothesis gets accepted even if it is false. 

 'kwU; ifjdYiuk vlR; gksus ij Hkh LohÑr gks tkrh gSA 
(2) The null hypothesis gets rejected even if it is true. 

 'kwU; ifjdYiuk lR; gksus ij Hkh vLohÑr gks tkrh gSA 
(3) Both the null hypothesis as well as alternative hypothesis are rejected. 

 'kwU; ifjdYiuk vkSj oSdfYid ifjdYiuk nksuksa vLohdkj dh tkrh gSaA 
(4) The null hypothesis gets accepted even if it is true. 

 'kwU; ifjdYiuk lR; gksus ij Hkh LohÑr gks tkrh gSA 

28. Following are some steps used in research. Choose the appropriate sequence of 

steps in completion of research work : 

'kks/k esa mi;ksx fd, tkus okys dqN pj.k fuEufyf[kr gSaA 'kks/k dk;Z dks iwjk djus ds fy, 
pj.kksa dk mfpr Øe pqusa % 
(i) Literature survey (ii) Developing hypothesis 
 lkfgR; losZ{k.k  ifjdYiuk dk fodkl djuk 
(iii) Preparation of research design (iv) Sampling plan 
 vuqla/kku vfHkdYi rS;kj   djuk çfrn'kZ ;kstuk 
(v) Hypothesis testing 

 ifjdYiuk ijh{k.k  
(1) (i), (iii), (iv), (ii), (v) (2) (i), (iv), (iii), (ii), (v) 

(3) (i), (ii), (iii), (iv), (v) (4) (i), (iv), (iii), (ii), (v) 
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29. When the person lifts material that they have previously published and passes it 

off as their own new work is known as : 

tc dksbZ O;fDr viuh igys ls çdkf'kr dh xbZ lkexzh dks ysrk gS vkSj mls vius u, dk;Z 
ds :i esa çLrqr djrk gS] rks bls dgk tkrk gS % 
(1) Mosaic Plagiarism 

 ekst+sd lkfgfR;d pksjh 
(2) Accidental Plagiarism 

 vkdfLed lkfgfR;d pksjh 
(3) Self-Plagiarism 

 Lo&lkfgfR;d pksjh 
(4) Minimal Plagiarism 

 U;wure lkfgfR;d pksjh 

30. Match the Column-I with Column-II and choose correct option : 

LrEHkLrEHkLrEHkLrEHk -I dks LrEHkLrEHkLrEHkLrEHk -II ls feyk;sa vkSj lghlghlghlgh fodYi pqus % 

 Column-I 

LraHkLraHkLraHkLraHk-I 
 Column-II 

LraHkLraHkLraHkLraHk-II 
A. Explanatory research 

O;k[;kRed vuqla/kku 
(i) Understanding causes and consequences of 

phenomenon 

?kVuk ds dkj.kksa vkSj ifj.kkeksa dks le>uk 
B. Descriptive research 

o.kZukRed vuqla/kku 
(ii) Discover new phenomenon 

ubZ ?kVuk dh [kkst 
C. Exploratory research 

[kkstiw.kZ vuqla/kku 
(iii) Describing existing phenomenon 

ekStwnk ?kVuk dk o.kZu 

Code : 

dwV %dwV %dwV %dwV %    
(1) A-(ii),   B-(iii), C-(i) 

(2) A-(i),   B-(iii),   C-(ii) 

(3) A-(ii),   B-(i),   C-(iii) 

(4) A-(iii),   B-(ii),   C-(i) 
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31. Which of the following is not an appropriate tool for data analysis ? 

fuEufyf[kr esa ls dkSu-lk MkVk fo'ys"k.k ds fy, mi;qDr midj.k ughaughaughaugha gS \ 
(i) SPSS (ii) MS-Excel 

 ,l0 ih0 ,l0 ,l  ,e0,l0-,Dlsy 
(iii) R  (iv) Python 

 vkj   ik;Fku 
(v) Windows 

 foUMkst 
Code : 

dwV %dwV %dwV %dwV %    
(1) Only (ii) (2) (ii) and (iii) (3) (ii) and (iv) (4) Only (v) 

 dsoy (ii)  (ii) vkSj (iii)  (ii) vkSj (iv)  dsoy (v) 

32. In an experiment conducted on goats, the following were measured on each 

animal in the study : Sex, weight (in kg) and birth order. The scale of 

measurement of these variables are : 

cdfj;ksa ij fd, x, ,d ç;ksx esa] v/;;u esa çR;sd tkuoj ij fuEufyf[kr dks ekik x;k % 
fyax] otu ¼fdxzk0 esa½ vkSj tUe ØeA bu pjksa ds ekiu esa ç;qDr ekifu;k¡ gSa % 
(1) Nominal, Ratio, Ordinal (2) Ordinal, Ratio, Ratio 

 ukfer] vuqikr] Øfed  Øfed] vuqikr] vuqikr 

(3) Ordinal, Ratio, Interval (4) Nominal, Nominal, Ordinal 

 Øfed] vuqikr] vUrjky  ukfer] ukfer] Øfed 

33. Which among the following is not an example of primary data ? 

fuEufyf[kr esa ls dkSu-lk çkFkfed vk¡dM+s dk mnkgj.k ughaughaughaugha  gS \ 
(1) Data collected through surveys  

 losZ{k.k ds ek/;e ls ,df=r vk¡dM+s 
(2) Data collected through interviews 

 lk{kkRdkj ds ek/;e ls ,df=r vk¡dM+s 
(3) Data collected from experiments 

 ç;ksxksa ls ,df=r vk¡dM+s 
(4) Data collected from national census reports 

 jk"Vªh; tux.kuk çfrosnu ls ,df=r vk¡dM+s 
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34. Kurtosis of a standard normal distribution is : 

,d ekud çlkekU; forj.k dh dqdqnrk gS % 
(1) Zero (2) Three (3) Two (4) One  

 'kwU;   rhu  nks  ,d 

35. A subset that is chosen from population is known as : 

,d mileqPp; ftls ,d tula[;k esa ls pquk tkrk gS] dgykrk gS % 
(1) Parameter (2) Variable (3) Sample (4) Statistic 

 çkpy  pj  çfrn'kZ  len'kZ 

36. Which of the following is not applied in research involving qualitative    

variables ? 

fuEufyf[kr esa ls dkSu xq.kkRed pjksa dks fufgr djus okys vuqla/kku esa ç;qDr ughaughaughaugha gksrk gS \ 
(1) Proportion (2) Diagram (3) Odds ratio (4) Mean 

 vuqikr  vkjs[k  fo"ke vuqikr  ek/; 

37. Read the following statements and choose true statement(s) : 

fuEufyf[kr dFkuksa dks i<+sa vkSj lR;lR;lR;lR; dFku pqusa % 
(a) Independent variables are unknown variables. 

 Lora= pj vKkr pj gSaA 
(b) Dependent variables are unknown variables. 

 vkfJr pj vKkr pj gSaA 
(c) Research decisions are made on dependent variables. 

 vuqla/kku fu.kZ; vkfJr pj ij fd, tkrs gSaA 
Code : 

dwV %dwV %dwV %dwV %    
(1) Only (a) (2) (a) and (b) (3) (b) and (c) (4) (a) and (c) 

 dsoy (a)  (a) vkSj (b)  (b) vkSj (c)  (a) vkSj (c) 

38. The sampling method in which after random start, every 'kth' individual is 

selecting from the population list is known as : 

,d ;kn`fPNd vkjaHk ds mijkar tula[;k lwph ds çR;sd ^kok¡* O;fDr dks p;fur djus okyh 
çfrp;u fof/k gS % 
(1) Simple random sampling (2) Systematic sampling 

 lkekU; ;kn`fPNd çfrp;u  Øec) çfrp;u 
(3) Stratified sampling (4) Cluster sampling 

 LrjhÑr çfrp;u   xqPN çfrp;u 
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39. In stratified random sampling, how the strata within the population are decided ? 

LrjhÑr ;kn`fPNd çfrp;u esa tula[;k ds Lrjksa dk fu/kkZj.k dSls fd;k tkrk gS \ 
(1) Randomly 

 ;kn`fPNd :i ls 
(2) Based on specific characteristics of population 
 tula[;k ds fof'k"V fo'ks"krkvksa ij vk/kkfjr 
(3) Using a pre-defined pattern 

 iwoZ&fu/kkZfjr iSVuZ dk mi;ksx djds 
(4) Using geographical proximity 

 HkkSxksfyd lehirk ds vk/kkj ij 

40. A longitudinal research design is : 

,d vuqnS?;Z vuqla/kku vfHkdYi gS % 
(1) Studying multiple groups simultaneously 

 dbZ lewgksa dk ledkfyd v/;;u 
(2) Collecting data at a single point in time 
 ,d gh le; ij vk¡dM+ksa dk laxzg.k 
(3) Observing participants over an extended period of time 

 ,d foLrkfjr le;kof/k rd çfrHkkfx;ksa dk çs{k.k  
(4) Analyzing historical data 

 ,sfrgkfld vk¡dM+ksa dk fo'ys"k.k djuk 

41. Which research design investigates the cause and effect relationship between 

variables ? 

dkSu-lk vuqla/kku vfHkdYi pjksa ds chp çHkko&dkj.k lEcU/k dh tk¡p djrk gS \ 
(1) Descriptive design 
 o.kZukRed vfHkdYi 

(2) Correlational design 

 lglEcU/kkRed vfHkdYi 
(3) Experimental design 

 ç;ksxkRed vfHkdYi 
(4) Case-study design 

 dsl&v/;;u vfHkdYi 
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42. Which of the following is not a primary purpose of a literature review in research ? 

fuEu esa ls dkSu lkfgR; leh{kk dk eq[; mn~ns'; ughaughaughaugha  gS \ 
(1) To summarize the researcher's findings 

 'kks/kdrkZvksa ds urhtksa dk laf{kIrhdj.k 
(2) To provide a historical background of the topic 
 fo"k; dk ,sfrgkfld i`"BHkwfe çnku djuk 
(3) To identify gaps and justify the need for the study 

 vUrjkyksa dh igpku djuk vkSj v/;;u dh vko';drk dks mfpr Bgjkuk 
(4) To present statistical analysis of the data 

 vk¡dM+ksa dk lkaf[;dh; fo'ys"k.k çLrqr djuk 

43. Which statistical measure describes the central tendency of a data set ? 

dkSu-lk lkaf[;dh; ekiu vk¡dM+ksa ds leqPp; dh dsUæh; ço`fÙk dk o.kZu djrk gS \ 
(1) Standard Deviation (2)  Range (3) Mean (4) Variance 
 ekud fopyu         çlkj  ek/;  çlj.k 

44. What does a p-value in statistical analysis indicate ? 

lkaaf[;dh; fo'ys"k.k esa p-eku D;k bafxr djrk gS \ 
(1) The size of the data set  

 vk¡dM+ksa ds leqPp; dk vkdkj 
(2) The probability of obtaining results by chance under null hypothesis 
 'kwU; ifjdYiuk ds vUrxZr urhtksa dks vkdfLed :i ls çkIr djus dh lEHkkouk 
(3) The mean of the data set 

 vk¡dM+ksa ds leqPp; dk ek/; 

(4) The variance within the data set 

 vk¡dM+ksa ds leqPp; dk çlj.k 

45. What does the term 'outlier' refer to in data analysis ? 

vk¡dM+ksa ds fo'ys"k.k esa ^cfgjLFk çnÙk* 'kCn dk D;k vFkZ gS \ 
(1) A data point that lies within the expected range 

 ,d vk¡dM+k fcUnq tks visf{kr lhek esa gksrk gS 
(2) A data point that does not fit the overall pattern of the data 
 ,d vk¡dM+k fcUnq tks vk¡dM+ksa ds lexz iSVuZ esa fQV ugha gksrk gS 
(3) The average value of a data set 

 vk¡dM+k leqPp; dk vkSlr eku 

(4) The data point that lies between the first and third quartile 

 vk¡dM+k leqPp; esa igys vkSj rhljs prqFkZd ds chp dk eku  
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Instructions (Q. No. 46 & 47 ) : Review the monthly website traffic data for site xyz in 

the year 2023 provided in the data below. Choose the correct answer for each question 

given below : 

funsZ'k funsZ'k funsZ'k funsZ'k (iz0 la0iz0 la0iz0 la0iz0 la0 46 rFkkrFkkrFkkrFkk 47) %%%%    Ñi;k uhps fn, x, o"kZ 2023 eas lkbV xyz ds ekfld osclkbV 
;krk;kr vk¡dM+ksa dh leh{kk djsaA uhps fn, x, çR;sd ç'u ds fy, lghlghlghlgh mÙkj pqusa %        

Monthly Website Traffic data for the Site xyz (Year-2023) 

xyz lkbV ds fy, ekfld osclkbV ;krk;kr vk¡dM+k ¼o"kZ-2023½ 
Month 

eghukeghukeghukeghuk 
Visitors 

n'kZdn'kZdn'kZdn'kZd    

January / tuojh 3,50,000 

February / Qjojh 3,80,000 

March  / ekpZ 3,00,000 

April / vçSy 4,20,000 

May / ebZ 4,00,000 

June / twu 4,50,000 

July / tqykbZ 4,30,000 

August / vxLr 4,70,000 

September / flrEcj 3,80,000 

October / vDVwcj 4,10,000 

November / uoEcj 4,80,000 

December / fnlEcj 5,00,000 
 

46. The average monthly visitors (rounded) for site xyz in 2023 is : 

lkbV xyz ds fy, lky 2023 esa ekfld vkSlr n'kZd ¼iw.kk±fdr½ fdrus Fks \ 

(1) 414165 (2) 414167 (3) 414168 (4) 414160 

47. What was the percentage (rounded to zero) decrease in visitors from April to 

May ? 

vçSy ls ebZ rd] n'kZdksa esa çfr'kr ¼'kwU; ij iw.kk±fdr½ deh fdruh gS \ 

(1) 8%  (2) 5% (3) 10% (4) 15% 
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48. The pie diagram given below, shows monthly expenditure of the two families A 

and B on various items along with raw data of expenditure as mentioned in the 

legend. What will be the ratios of radii of circle A to B in construc

diagram ? 

uhps fn;k x;k ikbZ vkjs[k] O;; ds ewy vk¡dM+s ds lkFk fofHkUu enksa ij nks ifjokjksa 
B ds ekfld O;; dks n'kkZrk gSA ikbZ vkjs[k ds fuekZ.k esa o`Ùk 
vuqikr D;k gksxk \ 
(1) 9 : 10 

Instructions (Q. No. 49 & 50) :

vehicles by two companies A and B during the year 2015 to 2020. Choose the 

answer for each question given below :

funsZ'k funsZ'k funsZ'k funsZ'k (iz0 la0iz0 la0iz0 la0iz0 la0 49 rFkkrFkkrFkkrFkk 50) 

daifu;ksa A vkSj B }kjk fufeZr okguksa dks n'kkZrk gS] dh leh{kk dhft,A uhps fn;s x;s izR;sd iz'u ds 
fy, lghlghlghlgh mÙkj pqfu,A 

 

( 17 ) 

The pie diagram given below, shows monthly expenditure of the two families A 

and B on various items along with raw data of expenditure as mentioned in the 

legend. What will be the ratios of radii of circle A to B in construc

uhps fn;k x;k ikbZ vkjs[k] O;; ds ewy vk¡dM+s ds lkFk fofHkUu enksa ij nks ifjokjksa 
ds ekfld O;; dks n'kkZrk gSA ikbZ vkjs[k ds fuekZ.k esa o`Ùk A 

(2) 100 : 81 (3) 10 : 9 

49 & 50) : Review the given figure which shows the manufactured 

vehicles by two companies A and B during the year 2015 to 2020. Choose the 

answer for each question given below : 

50) %%%% d`i;k uhps fn, x;s xzkQ tksfd o"kZ 2015 
}kjk fufeZr okguksa dks n'kkZrk gS] dh leh{kk dhft,A uhps fn;s x;s izR;sd iz'u ds 

 

P.T.O. 

The pie diagram given below, shows monthly expenditure of the two families A 

and B on various items along with raw data of expenditure as mentioned in the 

legend. What will be the ratios of radii of circle A to B in constructing the pie 

uhps fn;k x;k ikbZ vkjs[k] O;; ds ewy vk¡dM+s ds lkFk fofHkUu enksa ij nks ifjokjksa A vkSj 
 ls B dh f=T;kvksa dk 

(4) 1 : 1 

 
Review the given figure which shows the manufactured 

vehicles by two companies A and B during the year 2015 to 2020. Choose the correct 

 ls 2020 ds nkSjku nks 
}kjk fufeZr okguksa dks n'kkZrk gS] dh leh{kk dhft,A uhps fn;s x;s izR;sd iz'u ds 
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49. Difference between the average vehicles manufactured by the companies during 

the year 2015 to 2020 is : 

o"kZ 2015 ls 2020 ds nkSjku dEifu;ksa }kjk fufeZr okguksa ds vkSlr dk varj gS % 

(1) 205.5 (2) 105.0 

(3) 103.5 (4) 107.5 

50. If 1G  and 2G  denote growth rates of Companies A and B from 2015 to 2020 

respectively, then which of the following is true ? 

;fn 1G  vkSj 2G  Øe'k% 2015 ls 2020 rd dEifu;ksa A vkSj B dh o`f) nj dks n'kkZrs gSa] 
rks fuEufyf[kr esa ls dkSu-lk lR;lR;lR;lR; gS \ 
(1) G

2
 > G

1
 (2) G

2
 < G

1 

(3) G
2
 ≥ G

1
 (4) G

2
 ≤ G

1
 

   
 

 

2015    ls ls ls ls 2020    ds nkSjku daiuh ds nkSjku daiuh ds nkSjku daiuh ds nkSjku daiuh A    vkSj vkSj vkSj vkSj B    }}}}kjkkjkkjkkjk    
fufeZr okgukas dh la[;kfufeZr okgukas dh la[;kfufeZr okgukas dh la[;kfufeZr okgukas dh la[;k    

fufeZr okguksa dh la[;kfufeZr okguksa dh la[;kfufeZr okguksa dh la[;kfufeZr okguksa dh la[;k    
vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh A    
vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh vkWVkseksckby daiuh B    

o"kZo"kZo"kZo"kZ    
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Dental Science Code No : 671 

51. Which of the following are features of Gorlin-Goltz syndrome ? 

(1) Absence of clavicles  

(2) Calcified falx cerebellum 

(3) Frontal and parietal bossing  

(4) Multiple dentigerous cysts 

52. Patients of warfarin : 

(1) Carry a blue warning card 

(2) Have their anti-coagulation monitored by regular blood tests to measure their INR 

(3) Have a target therapeutic range of INR 2-3 

(4) Must stop their anticoagulants 3 days prior to tooth extractions 

53. Papillon-Lefevre syndrome is caused by : 

(1) Mutations in lysosomal trafficking regulatory genes 

(2) Mutation leading to deficiency of alkaline phosphate activity 

(3) Defect in actin-extracellular matrix linkage caused by loss of function mutations in 

KIND-1 

(4) Mutation in Cathepsin C gene 

54. When cementum is deposited in an irregular rhythm, it results in unevenly spaced 

incremental lines. Name these incremental lines : 

(1) Incremental lines of Saltier 

(2) Incremental lines of Hopewell Smith 

(3) Incremental lines of Tomes 

(4) Incremental lines of Retzius 
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55. Retromolar pad is penetrated by the following muscle fibres : 

(1) Superior constrictor, temporalis and buccinator muscle 

(2) Massetar, temporalis and lateral pterygoid 

(3) Orbicularis oris and buccinator 

(4) Temporalis and sternocleidomastoid muscle 

56. A 45-year-old female reported with extensive recession with clinical attachment loss. 

Intra-oral X-ray depicts more extensive bone loss. Chest X-ray shows pulmonary 

parenchymal fibrous infiltrate. Histopathology of the lesion revealed the presence of 

intense chronic inflammatory infiltrate with focal areas of non-caseating granuloma and 

positive Kveim test. The possible diagnosis is : 

(1) Aggressive periodontitis associated with Down Syndrome 

(2) Aggressive periodontitis associated with Sarcoidosis 

(3) Aggressive periodontitis associated with Ehler-Danlos Syndrome 

(4) Aggressive periodontitis associated with Cohen Syndrome 

57. A 50-year-old female reported in dental OPD with poor oral hygiene and chronic 

periodontitis. On examination typical "fish Odor" was observed. The patient was 

suffering from which disease : 

(1) Upper respiratory tract infection 

(2) Unbalanced insulin dependent diabetes 

(3) Liver Disease  

(4) Trimethylaminuria 
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58. Patients with oral Desquamative lesions exhibiting cutaneous neonatal bullae, 

poikiloderma, photosensitivity and acral atrophy alongwith oral desquamative lesions are 

said to have : 

(1) Chediak Higashi Syndrome  

(2) Lazy Leukocyte Syndrome 

(3) Papillon Lefevre Syndrome  

(4) Kindler Syndrome 

59. In caries activity test lacto bacillus count is 10,500 CFU's per ml of saliva. The caries 

risk is : 

(1) Immune (2) Low 

(3) Medium (4) High 

60. The first evidence of calcification of maxillary deciduous second molar occurs in : 

(1) 16-23 ½ weeks in utero (2) At birth 

(3) 10-12 months (4) 21
/4-2½ years 

61. Index ages and age groups for the survey are : 

(1) 5,12,15, 35 to 44 and 65-74 years 

(2) 5 to 10, 15 to 35, 40 to 65 years 

(3) 5, 15, 25, 35, 40 to 65 years  

(4) 5, 10, 15, 30, 60 to 70 years 
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62. Stylopharyngeus muscle is derived from : 

(1) First branchial arch  

(2) Fourth branchial arch 

(3) Third branchial arch  

(4) Second branchial arch 

63. In fracture of long bones, which type of emboli is common ? 

(1) Decompression sickness (2) Air 

(3) Fat  (4) Blood 

64. Strawberry gingivitis is seen in : 

(1) Chelitis granulomatosa  

(2) Pyoderma Vegetans 

(3) Granulomatosis Polyangitis  

(4) Pemphigus Vegetans 

65. Katz classification uses : 

(1) Canines (2) Molars 

(3) Incisors (4) Premolars 

66. Finish line in porcelain jacket crown given is : 

(1) Knife edge (2) Chamfer 

(3) Shoulder (4) Shoulder with bevel 
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67. There are many landmarks in the oral cavity which helps in designing complete dentures. 

One of the important landmarks is fovea palatini. What is its relation to the vibrating   

line ? 

(1) Behind the vibrating line  

(2) In front of vibrating line 

(3) On the vibrating line  

(4) Has no relation to vibrating line 

68. A loss in vertical dimension in complete denture will cause the mandible to move : 

(1) Backward in relation to upper jaw  

(2) Forward in relation to upper jaw 

(3) No change in the position of the jaws 

(4) Loss of vertical dimension is very rare 

69. An overextended disto buccal corner of a mandibular denture will push against which 

muscle during function ? 

(1) Zygomaticus (2) Orbicularis 

(3) Temporalis (4) Masseter 
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70. A black gutta percha is a thermo plastic impression material which is used for recording 

impressions for : 

(1) Complete dentures (2) Partial dentures 

(3) Intra-oral defects (4) Over dentures 

71. For implant placement, ideal amount of bone under soft tissue is : 

(1) 8 mm vertical and 4 mm horizontal  

(2) 10 mm vertical and 6 mm horizontal 

(3) At least 12 mm vertical and 6 mm horizontal 

(4) At least 14 mm vertical and 8 mm horizontal 

72. Gypsum product having least expansion : 

(1) Impression plaster (2) Model plaster 

(3) Stone plaster (4) Die stone 

73. Which of the following is correct about Bleaching of Vital teeth ? 

(1) Causes irreversible pulpitis 

(2) Utilizes the 'walking bleach' technique 

(3) Can initiate cervical erosion response 

(4) Affect both enamel & dentine 
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74. A patient wearing Complete Denture (CD) has difficulty in pronouncing 'T', the reason 

may be : 

(1) Too thick palatal area 

(2) Incorrect positioning of upper incisors 

(3) Too thick mandibular bone 

(4) Reduced salivary flow 

75. A young healthy male met with road traffic accident. He is fully alert & oriented with bit 

of headache. After 3 hours, he developed reduced conscious level, left hemiperesis & 

right side pupillary dilatation. The most probable cause is : 

(1) Extradural hematoma  

(2) Acute subdural hematoma 

(3) Chronic subdural hematoma  

(4) Cerebral contusion 

76. In intrauterine life, best diagnosis of cleft lip & palate is done by : 

(1) Amniocentesis (2) Ultrasound 

(3) Foetal CT scan (4) hCG testing 

77. Fishman index is used for : 

(1) Skeletal growth maturation  

(2) Dental growth maturation 

(3) Arch length discrepancy  

(4) Prognathism of Maxilla 
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78. Which of the following is most common unfavourable sequelae of serial extraction ? 

(1) Disto-axial inclination of canine  

(2) Residual space at the extraction site 

(3) Mesio-axial inclination of second premolar  

(4) Increase in overbite 

79. A boy aged 9 years comes to you with crowding in both arches. Lateral cephalogram 

revealed SNA 78° & SNB 82°. The line of treatment is : 

(1) Reverse pull headgear with chin cap  

(2) Frankel III (n) reverse activator 

(3) Surgery in both jaws followed by definitive orthodontic treatment 

(4) Extraction followed by orthodontic treatment 

80. In which tooth movement there is uniform application of pressure on periodontal tissue ? 

(1) Bodily (2) Torquing 

(3) Tipping (4) Rotation 

81. Overall optimum degree of taper of tooth preparation for maxillary anterior tooth is : 

(1) 6 degree (2) 10 degree 

(3) 14 degree (4) 19 degree 

82. To replace a missing canine, the best pontic design is : 

(1) Modified ridge lap (2) Ridge lap 

(3) Ovoid (4) Sanitary 
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83. Advantage of NiTi file over K file is : 

(1) Increased flexibility (2) Low resiliency 

(3) Resistance to breakage (4) Less expensive 

84. A 8 year old child got trauma & avulsed his central incisor. Within 20 minutes he 

reached dental clinic with his avulsed contaminated tooth. The treatment is : 

(1) Clean root surface with saline & reimplant 

(2) Clean & curette root surface & reimplant 

(3) Clean root surface, do RCT & reimplant 

(4) Scrubbing of root surface & reimplant 

85. A 12 year child complains of recurrent pain over right maxillary posterior tooth but 

clinically no caries was found. He also reports of cold & fever spells. What can be 

further done to relieve his problems ? 

(1) Extract the primary retained tooth 54, 55  

(2) Extract the teeth 16, 54, 55 

(3) Evaluate maxillary sinus 

(4) Treat for trigeminal neuralgia of maxillary division 

86. HIV associated gingivitis is best described by the term : 

(1) Juvenile gingivitis  

(2) Acute necrotizing gingivitis 

(3) Linear gingival erythema  

(4) Necrotising ulcerative gingivitis 
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87. For development of mandibular incisors, which of the following gene is responsible : 

(1) MSX-1 (2) BARX-1 

(3) APC-1 (4) abl-2 

88. Primary consideration in any oral health preventive programme is : 

(1) Fluoride application (2) Diet control 

(3) Plaque control (4) Pit & fissure sealant 

89. In a patient with 15% blood loss, the immediate management is : 

(1) Immediate blood replacement  

(2) Blood transfusion is not required  

(3) Aggressive replacement of crystalloid only 

(4) Aggressive replacement of crystalloid & blood 

90. Occurrence of malocclusion in given population is best described as : 

(1) Prevalence rate (2) Incidence rate 

(3) Morbidity rate (4) Probability rate 

91. Posterior and middle branches of external carotid artery are, except :  

(1) Occipital artery  

(2) Ascending Pharyngeal artery 

(3) Posterior auricular artery  

(4) Superior thyroid artery 
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92. Which of the following represents Stage IV A of oral cavity carcinoma according to 

American Joint Committee ?  

(1) [T1, T2, T3, T4a], N2, M0  

(2) [ANY T], N3, M0 

(3) [T1, T2, T3], N1, M0  

(4) T3, N0, M0 

93. Which of the following are features of thyrotoxicosis, except ?  

(1) Tremors (2) Intolerance to heat 

(3) Palpitations (4) Intolerance to cold 

94. "Toilet training" lies under which stage of Freud theory :  

(1) Latency Stage (2) Phallic Stage 

(3) Anal stage (4) Genital stage 

95. Scintigraphy of Pagets disease of mandible shows ?  

(1) Ball in hand appearance  

(2) Cherry blossom appearance 

(3) Black Beard sign  

(4) Sausage appearance 

96. Cyst in place of developing tooth : 

(1) Residual cyst (2) OKC 

(3) Primordial cyst (4) Dentigerous cyst 
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97. The most acceptable theory for mechanism of action of LA is :  

(1) Surface charge theory  

(2) Membrane expansion theory 

(3) Calcium displacement theory  

(4) Receptor binding theory 

98. Dakin's solution is :  

(1) 1% NaOCl (2) 0.5% NaOCl 

(3) 5.2% NaOCl (4) 2.5% NaOCl 

99. Mantoux test is type of :  

(1) type I Hypersensitivity  

(2) type II Hypersensitivity 

(3) type IV Hypersensitivity  

(4) type III Hypersensitivity 

100. Function of second order bends in edgewise appliance : 

(1) Align roots labiolingually  

(2) Align roots mesio-distally 

(3) Provide torque  

(4) Compensate difference in tooth thickness 
 



  

 

For Rough Work/jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy,jQ dk;Z ds fy, 

    



   

 

vH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'kvH;fFkZ;ksa ds fy, funsZ'k    

¼bl iqfLrdk ds izFke vkoj.k¼bl iqfLrdk ds izFke vkoj.k¼bl iqfLrdk ds izFke vkoj.k¼bl iqfLrdk ds izFke vkoj.k&&&&ì"B ij rFkk mÙkjì"B ij rFkk mÙkjì"B ij rFkk mÙkjì"B ij rFkk mÙkj&&&&i= ds nksuksa ì"Bksa iji= ds nksuksa ì"Bksa iji= ds nksuksa ì"Bksa iji= ds nksuksa ì"Bksa ij    dsoy uhyhdsoy uhyhdsoy uhyhdsoy uhyh@@@@dkyh ckydkyh ckydkyh ckydkyh cky&&&&IokbaV isu ls gh fy[ksa½IokbaV isu ls gh fy[ksa½IokbaV isu ls gh fy[ksa½IokbaV isu ls gh fy[ksa½    

  1. iz'u iqfLrdk feyus ds 30 feuV ds vUnj gh Ñi;k ns[k ysa fd iz'ui= esa lHkh Ik"̀B ekStwn gSa vkSj dksbZ iz'u 
NwVk ugha gSA iqfLrdk nks"k;qä ik;s tkus ij bldh lwpuk rRdky d{k fujh{kd dks nsdj lEiw.kZ iz'ui= dh nwljh 
iqfLrdk izkIr dj ysaA 

  2. mÙkjmÙkjmÙkjmÙkj&&&&i= i= i= i= [OMR] vyvyvyvyxxxx    ls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkjls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkjls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkjls fn;k x;k gSA bls u rks eksM+sa vkSj u gh foÑr djsaA nwljk mÙkj&&&&i= ugha fn;ki= ugha fn;ki= ugha fn;ki= ugha fn;k    
tk;sxkAtk;sxkAtk;sxkAtk;sxkA    

  3. viuk vuqØekad rFkk mÙkj&i= dk Øekad çFke vkoj.k&i`"B ij isu ls fu/kkZfjr LFkku ij fy[ksaA 

  4. mÙkjmÙkjmÙkjmÙkj&&&&i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k i= ds çFke i`"B ij isu ls viuk vuqØekad fu/kkZfjr LFkku ij fy[ksa rFkk uhps fn;s o`Ùkksa dks xk<+k 
¼¼¼¼dkyh@uhyh cky IokbaV dkyh@uhyh cky IokbaV dkyh@uhyh cky IokbaV dkyh@uhyh cky IokbaV isu ls Hkj nsa½isu ls Hkj nsa½isu ls Hkj nsa½isu ls Hkj nsa½    dj nsaAdj nsaAdj nsaAdj nsaA    tgk¡tgk¡tgk¡tgk¡&&&&tgk¡ vko';d gks ogk¡ ç'utgk¡ vko';d gks ogk¡ ç'utgk¡ vko';d gks ogk¡ ç'utgk¡ vko';d gks ogk¡ ç'u&&&&iqfLrdk dk ØekadiqfLrdk dk ØekadiqfLrdk dk ØekadiqfLrdk dk Øekad] ls.Vj dksM] ls.Vj dksM] ls.Vj dksM] ls.Vj dksM    
rFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaArFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaArFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaArFkk lsV dk uEcj mfpr LFkkuksa ij fy[ksaA 

  5. vks0 vks0 vks0 vks0 ,e0 vkj0,e0 vkj0,e0 vkj0,e0 vkj0    mÙkj&i= ij vuqØekadmÙkj&i= ij vuqØekadmÙkj&i= ij vuqØekadmÙkj&i= ij vuqØekad    la[;kla[;kla[;kla[;k] ] ] ] iz'uiz'uiz'uiz'u&&&&iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ iqfLrdk la[;k o lsV la[;k ¼;fn dksbZ gks½ ls.Vj dksM ls.Vj dksM ls.Vj dksM ls.Vj dksM 
rFkkrFkkrFkkrFkk    iz'uiz'uiz'uiz'u&&&&iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 iqfLrdk ij vuqØekad vkSj vks0,e0vkj0 mÙkj&mÙkj&mÙkj&mÙkj&i= la[;k dh izfof"V;ksa esa mifjys[kui= la[;k dh izfof"V;ksa esa mifjys[kui= la[;k dh izfof"V;ksa esa mifjys[kui= la[;k dh izfof"V;ksa esa mifjys[ku    ¼feVkdj ;k ¼feVkdj ;k ¼feVkdj ;k ¼feVkdj ;k 
dkVdj iqu% ys[ku½dkVdj iqu% ys[ku½dkVdj iqu% ys[ku½dkVdj iqu% ys[ku½    dh vuqefr ugha gSAdh vuqefr ugha gSAdh vuqefr ugha gSAdh vuqefr ugha gSA 

  6. mi;qZDr izfof"V;ksami;qZDr izfof"V;ksami;qZDr izfof"V;ksami;qZDr izfof"V;ksa    esa dksbZ Hkh ifjorZu d{kesa dksbZ Hkh ifjorZu d{kesa dksbZ Hkh ifjorZu d{kesa dksbZ Hkh ifjorZu d{k&&&&fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk fujh{kd }kjk izekf.kr gksuk pkfg;s vU;Fkk ;g ,d vuqfpr lk/ku dk 
iz;ksx ekuk tk;sxkAiz;ksx ekuk tk;sxkAiz;ksx ekuk tk;sxkAiz;ksx ekuk tk;sxkA 

  7. bl bl bl bl iz'uiz'uiz'uiz'u&&&&iqfLrdkiqfLrdkiqfLrdkiqfLrdk    esa dqyesa dqyesa dqyesa dqy    100    cgqfodYih; cgqfodYih; cgqfodYih; cgqfodYih; ç'u gSaAç'u gSaAç'u gSaAç'u gSaA    iz'u&iqfLrdk esa iz'u&iqfLrdk esa iz'u&iqfLrdk esa iz'u&iqfLrdk esa çR;sd iz'u ds çR;sd iz'u ds çR;sd iz'u ds çR;sd iz'u ds pkj oSdfYid mÙkj fn;s x;spkj oSdfYid mÙkj fn;s x;spkj oSdfYid mÙkj fn;s x;spkj oSdfYid mÙkj fn;s x;s    
gSaA izR;sd iz'u ds oSdfYid mÙkj dsgSaA izR;sd iz'u ds oSdfYid mÙkj dsgSaA izR;sd iz'u ds oSdfYid mÙkj dsgSaA izR;sd iz'u ds oSdfYid mÙkj ds    fy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dksfy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dksfy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dksfy, vkidks mÙkj&i= dh lEcfU/kr iafDr ds lkeus fn;s x;s o`Ùk dks    
mÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isumÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isumÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isumÙkj&i= ds izFke i`"B ij fn;s x;s funsZ'kksa ds vuqlkj isu    lslslsls    Hkjuk ;kHkjuk ;kHkjuk ;kHkjuk ;k    xk<xk<xk<xk<++++k djuk gSAk djuk gSAk djuk gSAk djuk gSA    

  8. çR;sd ç'u ds mÙkj ds fy;s dsoy ,d gh oÙ̀k dks xk<+k ¼Hkj nsa½ djsaA ,d ls vf/kd o`Ùkksa dks xk<+k djus ij 
vFkok ,d o`Ùk dks viw.kZ Hkjus ij og mÙkj xyr ekuk tk;sxkA 

  9. /;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk/;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk/;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk/;ku nsa fd ,d ckj L;kgh }kjk vafdr mÙkj cnyk ugha tk ldrk gSA ;fn vki fdlh ç'u dk mÙkj ugha nsuk    
pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA pkgrs gSa] rks lEcfU/kr iafDr ds lkeus fn;s x;s lHkh o`Ùkksa dks [kkyh NksM+ nsaA ¼¼¼¼,ssls,ssls,ssls,ssls    ç'uksa ij 'kwU; vad fn;s ç'uksa ij 'kwU; vad fn;s ç'uksa ij 'kwU; vad fn;s ç'uksa ij 'kwU; vad fn;s 
tk;saxsA½tk;saxsA½tk;saxsA½tk;saxsA½ 

10. jQ dk;Z ds fy, iz'u&iqfLrdk ds eq[ki`"B ds vanj okyk i`"B rFkk mÙkj&iqfLrdk ds vafre i`"B dk ç;ksx djsaA 

11. ijh{kk ijh{kk ijh{kk ijh{kk dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= dh lekIrh ds ckn vH;FkhZ viuh iz'u&iqfLrdk ,oa vks0,e0vkj0 mÙkj&i= nksuksa dks nksuksa dks nksuksa dks nksuksa dks ijh{kk d{k@gkWy ijh{kk d{k@gkWy ijh{kk d{k@gkWy ijh{kk d{k@gkWy 
NksM+us ls igysNksM+us ls igysNksM+us ls igysNksM+us ls igys    d{kd{kd{kd{k&&&&fujh{kd dks lkSai nsaAfujh{kd dks lkSai nsaAfujh{kd dks lkSai nsaAfujh{kd dks lkSai nsaA 

12. ijh{kk lekIr gksus ls igys ijh{kk Hkou ls ckgj tkus dh vuqefr ugha gksxhA 

13. ;fn dksbZ vH;FkhZ ijh{kk esa vuqfpr lk/kuksa dk ç;ksx djrk gS] rks og fo'ofo|ky; }kjk fu/kkZfjr naM dk@dh 
Hkkxh gksxk@gksxhA 
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